Total number of printed pages : 8

27T ECON
(BENGALI)

2017
ECONOMICS

Full Marks : 100
Pass Marks : 30

Time : Three hours

The figures in the margin indicate full marks
SJor the questions.

Part I (& -9

Q. No. 1 (a-f) carries 1 mark each 1x6= 6
Q. No. 2~ 7 carries 2 marks each ‘ 2x6 =12
Q. No. 8-12 carries 4 marks each - 4x5=20
Q. No. 13 >& 14 carries 6 marks each 6x2 =12
Total =50
Part II (2 -92H)
Q. No. 15 (a~f) carries 1 mark each 1x6= 6
Q. No. 16—-21 carries 2 marks each 2x6 =12
Q. No. 22 -26 carries 4 marks each 4x5 =20
Q. No. 27 & 28 carries 6 marks each Hx2 =12
Total =50

Total (Part I & II): 50+ 50 =100
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PART A — F 9

1. (a) Define service 1
(TS AR wie |
(b) Fill in the blank:
HE 26 el

The aliocation of ____ resources and distribution of the
final goods and services are the central problems of any
economy. 1

—

I SIS (i) € pui W1 ¢ (AR [edd @ @
(@I Seitea (e T |

(c) What is a demand function ? y 1
sifent wem S 2 |

(d) What happens to total product when marginal product is zero ?

1
2T Tesiive o 251 (A6 TVt B 22
(e) What does a vertical supply curve imply ? 1

T (A @A F] BfFre wh e

(i Why is average total cost (ATC) greater than average variable
cost (AVC)? 1

G ARG AEF CATF NG N5 A BEF (@ 2

2. State the meaning of microcconomics and macroeconomics.

: 2
et Sl © AR sdaifen el @l |
3. Why does a budget line slope downward ? 2

(0 ACEs @ [ e e () Qe @9 7

4. If the total utilities of 4 and S units of a commodity for a consumer
are 56 and 60 respectively, calculate the marginal utility of 4 units
‘of it for him. -2
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10.

11.

12

G TACSIG @R G AEGE 4 6 5 BSRGA (I Teiifiel @y 56 €
60 % Sl @df Hiualiod 4 2TFGa @ifis Torifis @dw @

State any two exceptions of the law of demand. Y9
SifEnl TR v i 76 afews @

Define the term “long-run” as used in production. 2
TerAWwe Sl ARES R T A @A |

State any two assumptions of the law of variable proportions.

2
Afdasriie Taelicen [iala @ e 46 sfsa@en @
Distinguish between supply and stock. 4
(ST 8 Ngred ay AT wie |
OR /2

Explain briefly any four factors affccting supply of a commodity.
G WA N A@NE T G (3] (Al 514/ CAWMIT Tt Fermre =i
T

Explain the law of supply with the help of a supply schedule.
4

AN SEES T FiEcE @i [ e @

State the relationship between average cost (AC) and marginal cost
(MC) using diagram. ‘ 4

—

otae e 51 T4 (AC) € i 47 (MC) ~9a S=I4G @Tl |

State the distinction between cxplicit cost and implicit cost. Give
one example of each of them. C 242=4

“eily @ wEfiiEe AGEE AdS @Il | AreRta G T THiEEd Tie |

Write down three characteristics of monopolistic competition. State
whether the output produced by a firm under such a market is
higher/lower than or equal to that of a firm under perfect
competition. 3+1=4
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GaifEE afeibrenese agiEe 7T @RS @l | q@aE @4l aEiEE
e Tertmra A 7 afewibans @@ b diaicm @ afovier gemE -
s /e o I e |
OR /9241
. “Monopoly firm is a price maker” — Explain.
“aarsToE @b A Afsom wa/ww FdResEr — adel e

13. Explain the two basic conditions of consumer’s equilibrium assuming

that the consumer consumes only two goods. 6
GG (e wEia YRUTIEE AN (ol F0E A0 4@ W O SR i
“% 4o i |

OR /1241

Explain the concepts of change in quantity demanded and change
in demand using suitable diagrams.

Toige o EE viRwE AARwicE ke ¢ ifEn sffaser aaesk
T |

14. The demand and supply functions of a firm under perfectly
competitive market are given below :
@y =-200 =2 and
Q,=-100 + 3P
Find (i) The equilibrium price and output.
(ii) 1f due to increased cost, the supply function becomes
Q,=-200 + 3P, what will be the changes. in equilibrium

Price and Output ? . 3+3=6
G&Ts 7 aferafienEe aaEa G dfssima vifen ¢ ceia e W el

Z5
Q; = 200 — 2P &R
Q,=-100 + 3P
() O T € Teswra sl FeE e
(i) 9 9ed @ @i T AW Q= —200 + 3P T, SIFE SR A S
AR AHEaicE Foffesy 23 ¢
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| OR / &2/l
The total cost (TC) and prices (P) at different units of outpLit of a
monopolist are given below : )
() Find out the total revenue (TR), marginal revenue (MR) and
marginal cost (MC) schedules.
(i) Find out the equilibrium quantity of output (Q). (1+2+2)+1=6
| G G TR Do e ?@be’ﬁ S (G A (TC) € %+ (P)
s rewt AR |
(i) (B =¥ (TR), 2@ ©ig (MR) € ifes @7 (MC) weAs Fedfae s |
(i) CeevEE eRE AR (Q) Fefr @@

Q TC P
1 20 15
2 35 14
3 45 13
- S1 12
5 o8 11
6 66 10
T 76 9
8 88 8
PART B — ¢ 9%
15. (a) What is the alternative name of macroeconomics ? 1

AaRan sk [Jag a9 1 9

(b) What is the significance of the 45° line in Keynesian income

determination model ? 1
Keynesian 9% Tefzrolel il 45° @Afa Sieaaf Ft 2
(c) What is the value of MPC when MPS is zero ? 1

MPS-E4 9= %57 2051, MPC~4 qi« &9 ¢

(d) What is foreign exchange rate ? _ 1

oAt [ =9 9 2
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16.

17.

18,

19.

20.

241.

22.

23.

() What is meant by appreciation of the currcncy of a country ?

1
G5 e Jwia SHRETEE W e K ERE 2
(f/ What is invisible trade? 1
iy Alfs 2
Give any two examples of macroeconomic variable. ) 2

s weEtes v (3 @@ T e Wi |

State the concept of depreciation in the context of national income
accounting. - 2

R o e e SR AEedi TR

If the marginal propensity to save (s) of an economy is 0-3, find out
the value of the income multiplier. . 2

T ez A il Axed Sael (s) 0-3 T, SIRCAT SN SeCF ST (3 Al |

State any two measures of fiscal policy to correct the problem of
excess demand in an economy. 2

<l s SR BIfwR T A A0S 92T ASTHRE Aled (3 (A 1Y
g L 99 |

Give the concept of full employment equilibrium. 2.,
sp¢f fesl SREICTRE YRt (raie |
What is deficit financing ? ' 2

Tiofe e | ¢

What are the four factors of production ? Write down the name of
the remunecration to each of them. ' 2+42=4

BeolieT T 5 S B 2 Sid Areiivd AR w9 e |

Explain any four causes of cfisequilibrium in BOP. 4

T TRUE SRR (¥ (el G1Elo Eae i 9K |
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24.

25,

26.

27.

28.

OR / <72/}
Distinguish between factor income and transfer income,
TR TV O T WiEE W s ol |

it 1s planned to increase national income by %1,000 crore in an

cconomy. How much increase in investment is required to achieve
this goal if MPC = 06 ? 4

4T AT GISR W 1,000 S B 9 w=m AAfem w4 wmm MPe
= 06 T U T TGS ore [l v ofwe 9@ e TJ ¢ |
What is the meaning of government budget ? Distinguish between
revenue receipts and capital receipts. - 1+3=4
I s WA 2 A Aifd e Yo wfdE T A ol |

Point out two merits and two demerits of indirect tax. 2+2=4
A T 410 %9 8 75 (7T Trmed & |

Explain the income method of calculating GDP. 6
(G iz T_AVE oo I Al A |

OR /G241
Explain the relationship between investment multiplier and MPC.
fafmael el e aifes coli emetem W SeiE i @

Briefly explain any four functions of a commercial bank, 6
aifeifers T @ e siafG T SRRl i |
OR /9241
Describe the speculative demand for money.
YU TS bifenid e i i
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